BH 35 R AR

BAMEAE A H :20244E08 H 24 H (1)

=B O

ks SIRES U T

RAT Iy K T HTIR—
= —2A  :0UT IN

BRANVT 1 BH36.0 &H50.0
BRI E I - AE4FEA H

FBLA—1: ouT 1

SIMAE BTN &ME2T A GEt244 N

IN 1

3 4 6 7 9

2 4 6 8 9

JIEAE SINE K4 OUT | 1IN |GROSS HDCP| NET |crossiit %
1 R FEAE 41 39/ 80[12.0 168.0
2 #HJR KA 41 41]  82[13.2 [68.8
3 R —= 40 44 84!14.4 169.6
EER 40 420 82[12.0 [70.0
5 | —H #FH 40 46|  86/15.6 [70.4
6 |5 A 34 400 741 3.6 [70.4
7 HEE 46 38  84/13.2 [70.8
8 1Rk HEwl 44 40/  84[13.2 [70.8
9 pEH <V 40 38 78/ 7.2 170.8
10 Eif JERE o 41 78] 7.2 [70.8
11 /N R 45 45/ 90[19.2 [70.8
12 |FH BEET 38 46|  84[13.2 [70.8
13 RIf 15— 42 41 83[12.0 [71.0
14 [ BR R 37 45/ 82[10.8 [71.2
15 | H gEE 48 40/  88[16.8 [71.2
16 | LH FF 43 38/ 81/ 9.6 |71.4
16 | LH F* 40 41  81] 9.6 |71.4
18 |HiIH fLF 42 39| 81/ 9.6 |71.4
19 | A FbE 46 A7) 93121.6 [71.4
20 fEH —AR 40 40/ 80| 8.4 [71.6
21 |IUF #E5L 39 41 80! 8.4 |71.6
22 | M &iE 45 41  86/14.4 |71.6
23 | ZeRE GENE 41 38 79/ 7.2 ]71.8
24 |[FAK 5LZ 39 40/ 79] 7.2 [71.8
25 B R R 41 44 85[13.2 [71.8
26 | IRIE Flj5E 48 421 90[18.0 [72.0
27 UNEH FEhE 36 410 77] 4.8 [72.2
28 L HEE 37 40] 77 4.8 [72.2
29 | RJE FHL 46 43]  89/16.8 172.2
30 | K H FEME 39 38| 77 4.8 [72.2
31 FEH Fo)~ 49 39/ 88/15.6 [72.4
32 |HIH #=% 40 42]  82] 9.6 |72.4
33 PArl Wi 37 39 76] 3.6 [72.4
34 FEBEH B 42 46 88[15.6 [72.4
35 AR EERHR 42 40/ 82/ 9.6 [72.4
36 | FHI E 47 52/  99/26.4 [72.6
37 _dbw HX 41 46!  87!14.4 172.6
38 B I1ERA 41 40/ 81} 8.4 [72.6
39 iEAK 5L 40 47 87/14.4 [72.6
40 WA FHIE 48 451 93[20.4 [72.6
41 B B 46 A7) 93]20.4 [72.6
42 HEH WEZ 46 47 93]20.4 [72.6
43 | RZE 41 40/ 81 8.4 [72.6
44 =B 45 36/ 81/ 8.4 [72.6
45 HRAT SERE 50 42]  92]19.2 [72.8
46 |HiH fLT 47 39| 86/13.2 [72.8
47 Wt R 51 A7) 98/25.2 172.8
48 |HH 44 42|  86/13.2 [72.8
49 AH FE 42 44]  86/13.2 172.8
50 | =HE 43 43| 86/13.2 [72.8
51 M KIrb 44 421 86/13.2 [72.8
52 |JFiH FEHE 41 44| 85[12.0 [73.0
53 |— /i B 39 40 790 6.0 [73.0
54 |iZH H— 41 44| 85[12.0 [73.0
55 LA ks 45 40/  85/12.0 173.0
56 | FAFE 44 47/ 91/18.0 [73.0
57 |fRE: G 48 48 96[22.8 [73.2
58 Tk 17 40 44!  84/10.8 73.2
59 Yt #EFE] 43 41 84!10.8 173.2
60 | FE —% 38 40/ 78] 4.8 [73.2
61 [t FEE 42 42]  84/10.8 173.2
62 FAE AR 43 41  84/10.8 [73.2
63 | JEEiE Fnil 40 44 84[10.8 [73.2
64 |IAAR K& 49 53| 102/28.8 [73.2
65 AR HLZ 41 42 83/ 9.6 [73.4
66 E3: PEH 45 44]  89]15.6 [73.4
67 | EE {E 1 47 421 89]15.6 [73.4
68 Il ©pinb 47 48]  95/21.6 |73.4
69 M EiE 36 410 770 3.6 [73.4
70 B FHBR 43 45|  88[14.4 [73.6
71 EERT AR 43 45 88[14.4 [73.6
PR CES 44 44|  88[14.4 [73.6
73 A s 49 44 93]19.2 [73.8
74 KEF E 45 48!  93]19.2 /73.8
75 KK ZeAs 42 51  93/19.2 [73.8
76 |85l BFE 41 40/ 81] 7.2 [73.8
77T BH FC 43 44  87/13.2 173.8
78 |HE I 42 39 81 7.2 [73.8
79 A —2Z= 48 45/ 93]19.2 173.8
80 [ # 46 46]  92[18.0 [74.0
81 T Hi— 40 46]  86/12.0 174.0
82 |HEXE Efh 41 39 80/ 6.0 [74.0
83 RlR fnzg 40 39 79[ 4.8 [74.2
84 TAAR IERE 42 43|  85/10.8 [74.2
85 LA IEHI 41 44| 85/10.8 [74.2
86 |fE[m FHE 47 44)  91]16.8 |74.2
87 YR i 44 41 85/10.8 174.2
88 =M fH 45 40/  85/10.8 [74.2
89 A H ¥E 44 46]  90]15.6 |74.4
90 [NTJI] 77 51 51| 102/27.6 [74.4
91 BRI yE— 44 46]  90/15.6 |[74.4
92 |/l 5 44 46/  90/15.6 [74.4
93 [JE/K WE 40 43 83] 8.4 [74.6
94 AR FE 42 47 89]14.4 [74.6
95 KA AR 42 41 83] 8.4 [74.6
96 |2l Fnds 47 48]  95[20.4 [74.6
97 |FAA fER 40 37 77 2.4 [74.6
98 [FAK FEH 40 43]  83] 8.4 [74.6
99 | T Fo+ 41 48|  89/14.4 |74.6
100 | = FnE 41 41| 82] 7.2 [74.8
101 T4 & 40 42] 82 7.2 174.8
102 =3 Kk 45 49  94/19.2 [74.8
103 1k & 44 44|  88/13.2 [74.8
104 [fex AR Bt 43 45/  88/13.2 [74.8
105 HHF &% 45 43]  88[13.2 [74.8
106 |iifiE T &S 48 46]  94119.2 174.8
107 [fail 8% 38 44 82 7.2 [74.8
108 [{EH [Ez 43 39] 82 7.2 [74.8
109 | B et 45 43]  88[13.2 [74.8
110 2 H FIT 46 54]  100[25.2 [74.8
111 [ffX M 48 46/ 94]19.2 [74.8
112 |f&s @i 48 46  94/19.2 [74.8
113 | = F HE= 44 43]  87/12.0 175.0
114 [ £ 53 52| 105[30.0 [75.0
115 HA G 41 40/ 81/ 6.0 [75.0
116 |5k BEHE 44 43]  87[12.0 [75.0
117 | EH & 44 43 87[12.0 [75.0
118 [InAK &= 47 46/ 93[18.0 [75.0
119 [BA S8 52 53/ 105[30.0 175.0
120 By EsL 38 43 81! 6.0 /75.0
121 RiE 5] 41 40 81! 6.0 175.0
122 B iEE 44 43]  87/12.0 |75.0
123 8 B 39 47! 86/10.8 175.2
124 HY Foll 48 44 92]16.8 [75.2
125 K9 B 44 42]  86/10.8 |75.2
126 AR EH 51 A7) 98/22.8 |75.2
127 [Jesh HEURER 40 46/  86[10.8 [75.2
128 A EH= 49 48]  97121.6 |75.4
129 |J&m el 52 45 97]21.6 |75.4
130 |iJf = 50 47 97]21.6 [75.4
131 HH B& 40 45 85/ 9.6 [75.4
132 |i2H H— 44 41/ 85/ 9.6 [75.4
133 1ThE & 36 49/ 85| 9.6 |75.4
134 RIf FnZ 41 43]  84] 8.4 ]75.6
135 JERJR FEBL 54 42] 96/20.4 [75.6
136 |HE & 48 42)  90/14.4 |75.6
137 )l M= 46 38/ 84/ 8.4 [75.6
138 [#EJF IEfi] 52 44 96/20.4 [75.6
139 [¥&H BEIR 43 41] 84| 8.4 [75.6
140 | K IF: [l 38 40 78/ 2.4 [75.6
140 | K IR [l 43 41 84 8.4 |75.6
142 HEH EF T 47 48!  95/19.2 |75.8
143 | KA BH] 49 46)  95/19.2 175.8
144 HEH BEA 47 42]  89/13.2 |75.8
145 BIR Z=Z 51 49 100[24.0 [76.0
146 |[FnASR A 54 46! 100/24.0 176.0
147 EH 57— 54 46]  100/24.0 176.0
148 A f3E 43 45/  88/12.0 176.0
149 |5 1Rk 55 51/ 106/30.0 [76.0
150 | LA s 50 50/ 100[24.0 [76.0
151 | B3 BT 47 53/ 100/24.0 176.0
152 IR ® 46 54/ 100/24.0 [76.0
IREE- 41 46/  87/10.8 [76.2
154 FFBH =g 46 47 93]16.8 176.2
155 | =Wk FEH 52 47/ 99/22.8 [76.2
156 /NH BEZ 44 43]  87/10.8 176.2
157 [ga K & 42 45 87[10.8 [76.2
158 [[IA Fnig 47 45/ 92]15.6 [76.4
159 [gaK EF 38 42] 80| 3.6 [76.4
160 |/EA B 43 43/ 86/ 9.6 [76.4
161 =% 49 48]  97120.4 176.6
162 HRAE B 52 51| 103/26.4 [76.6
163 1 F— 41 44] 85| 8.4 176.6
164 | HEE FEAs 47 44]  91/14.4 176.6
165 &5 A 49 48] 97120.4 176.6
166 | #& i 44 52]  96[19.2 [76.8
167 AR B 50 52/ 102/25.2 [76.8
168 |53 Kir 55 47 102]25.2 [76.8
169 {AIAK Fl& 56 51/ 107/30.0 [77.0
170 | &)1 48 53/ 101/24.0 [77.0
171 [[UA fii= 48 470 95[18.0 [77.0
172 [ RJE E 45 44]  89/12.0 [77.0
173 tho EXX 46 49/ 95/18.0 177.0
174 | HiH B 48 47] 95/18.0 [77.0
175 [HhEy fdish 49 46/ 95[18.0 [77.0
176 /e BUE 50 45/ 95/18.0 /77.0
177 Rni RS 50 51/ 101/24.0 [77.0
178 A 5oH] 46 43]  89/12.0 [77.0
179 [[H EEH 45 44]  89/12.0 177.0
180 [V HiE 46 491 95[18.0 [77.0
181 |5 H AEigE 50 50/ 100/22.8 [77.2
182 |[LFs 5L 49 45/ 94/16.8 [77.2
183 | HL HIJBA 54 52/ 106/28.8 [77.2
184 | A5 Bk 50 49/ 99]21.6 [77.4
185 kM BT 48 45]  93]15.6 [77.4
186 JIlO EF% 54 57| 111[33.6 [77.4
187 |INH FavkEd 45 48 93/15.6 [77.4
188 {E)Il = 50 43]  93]15.6 |77.4
189 fHEF {EAHE 42 45/ 871 9.6 [77.4
190 K 5B 40 41 81| 3.6 [77.4
191 Ak F5ks 47 50/  97/19.2 [77.8
192 | /A 46 50/  96/18.0 [78.0
193 | Fak mpldE 44 40/ 84] 6.0 [78.0
194 RH fot 56 52/ 108/30.0 [78.0
195 | 3 f#iz 48 47 95/16.8 [78.2
196 |Bsl FRoL 39 44| 83| 4.8 [78.2
197 8 FE 46 43]  89/10.8 178.2
198 kH FEiE 42 41 83| 4.8 [78.2
199 A FHiE 49 51/ 100/21.6 [78.4
200 | KH #©H 47 47]  94|15.6 |78.4
201 & yEse 40 48 88/ 9.6 [78.4
202 | FARALR KA 50 50/ 100/21.6 [78.4
203 | FEH HIE 45 43] 88| 9.6 /78.4
204 |BFAT 1EAD 49 49/ 98[19.2 [78.8
205 |HIH 3% 43 43] 86| 7.2 178.8
206 |[M¥F =5 43 55/ 98/19.2 [78.8
207 | KAE BF5L 46 51/ 97/18.0 [79.0
208 |HEF 1 50 47/ 97/18.0 [79.0
209 | )11 kst 47 50/ 97/18.0 [79.0
210 |8y AHRY 44 A7/ 91/12.0 [79.0
211 |5k BE— 58 50/ 108/28.8 [79.2
212 [ F v — 48 42]  90/10.8 179.2
213 | &5 H Ad3EIT 49 46/  95]15.6 [79.4
214 |JII.E BE 47 48|  95/15.6 [79.4
215 | EIf {57 48 46]  94114.4 179.6
216 |EH &= 58 53/ 111/31.2 [79.8
217 |F: | 42 50 92]12.0 [80.0
218 | B 1B 51 59/ 110[30.0 /80.0
219 |f[FH BS 50 52/ 102/21.6 [80.4
220 —Wi A — 52 56| 108[27.6 [80.4
221 |f[FH A 51 56, 107/26.4 [80.6
222 | HA IEH] 43 52/  95/14.4 [80.6
223 | AR BURt 53 42)  95/14.4 180.6
224 | EIR B+ 49 45 94]13.2 /80.8
225 N e 52 53] 105/24.0 [81.0
226 |FE I 1Efid 51 48] 99[18.0 [81.0
227 [#Ex K B 48 50/  98/16.8 [81.2
228 |EA {EHH 55 55/ 110/28.8 [81.2
229 EHAK EE 45 52/  97/15.6 [81.4
230 | EHf fhsE 56 A7) 103/21.6 [|81.4
231 & s EH 50 53/ 103/21.6 [81.4
232 [{FH K= 52 50/ 102/20.4 [81.6
233 B z2 v T 55 58 113/31.2 [81.8
234 | KEE KiA 55 43|  98/15.6 |82.4
235 |BH BT 59 55| 114/31.2 [82.8
236 | APR KA 58 44 102/19.2 /82.8
237 | BH] [EKEAR 66 54 120/36.0 [84.0
238 | &EH IS 54 59/ 113/28.8 [84.2
239 fRH Brz 63 55/ 118/33.6 [84.4
240 [IAAK BEF 54 52| 106/21.6 [84.4
241 [HE widk 50 56, 106/21.6 [84.4
242 [{Ey ffi 62 55/ 117/32.4 [84.6
243 [T A 55 49 104[19.2 [84.8
244 |t B 62 66/ 128/38.4 [89.6




